In[* J:=
AHabs = (84.68 - ©.1135 * T[2] +0.0027*T[z]2) * 1000 x 0.23901;
RA=-7.297 %10 %2>-5.39%107"2 22 -8.047 x 10 ° x 2 + 1.043 » 10°%;
a=1.15;
hpared = 0.0014;
Tinicial = 24.3;

Qv = -hpared xa * (T[z] - Tinicial);
Vz = 0.196;
oL = 0.056;

Cpmezcla = 19.352;
&H = AHabs » RA x a;
&H + Qv

sol = NDSolve[{T' [z] == , T[O] == Tinicial}, T, {z, O, 110}]

Vz % oL * Cpmezcla
Plot[Evaluate[T[z] /. %], {z, ©, 110}, AxesLabel -» {"z[cm]", "T[°C]"}]
TableForm[{{"z" cm, "T" °C}}, TableDepth - 2]

Table[{z, T[z] /. sol}, {z, @, 110, 10}] // TableForm

outf+J= HT - InterpolatingFunction " Domain: {0, 110, ”}

Output: scalar

T[°C]
32

30+

Out[*]= [
28

z[cm]
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Out[* J//TableForm=
zcm T°C



2 | Solucién de la Ec. Diferencial del Balance de Energia para absorcion... AMyD.nb

Out[* J//TableForm=

0 24.3

10 25.3812
20 26.3741
30 27.2832
40 28.1125
50 28.865
60 29.5432
70 30.1488
80 30.683
90 31.1465

100 31.5392
110 31.8609



